. - B I %A

(=h&:mm) £ 77 885

DA AXAZHWF (RFvbv1D) SRR
8 EHBEBEE
e HAE I Zwh

] & & M
S HAHEL =
Rup ’ B = EEBEEERS

( | — Z0fh %S

1 # | MPaLIFOEERTY. T

Bs 2500y A B | L[| |d]| =@ ,

SJM1BRNR-RO4RMT | TS115%| M16x15(#) | R1/4 |51 | 6 | 4 | 21,000 gﬁgﬁﬂgéﬁf
SJM16LNR-RO4RMT | TS116%| M16x15(f) | R1/4 |51 | 6 | 4 | 21,000
SJM16RNR-RO6RMT | TS117+| M16x15(#) | R3/8 |53 | 6 | 4 |21,600
2| SIM16LNR-ROBRMT | TS118*| M16x15(%) | R3/8 |63 | 6 | 4 | 21,600
% SJW22RNR-RO4RMT | TS119 | W22-14¢)) | R1/4 |72 |10 | 6 | 22800
Z | SJW22RNR-ROBRMT | TS120 | W22-14() | R3/8 |72 | 10| 8 | 23,400

SJW22RNR-RO8RMT | TS121 wa2-14(8) R1/2 | 72 | 10| 10 | 24,000
SJW30RNR-RO8RMT | TS122 | W30-14(H) R1/2 |90 | 12| 10 | 30,000
SJW30RNR-R12RMT | TS123 | W30-14(H) R3/4 | 80 | 12| 15 | 33,000

BJM1B8RNR-RO4RMT | TB115%| M16x15(#) | R1/4 |51 | 6 | 4 5,400
BJM16LNR-RO4RMT | TB116%| M16x15(%k) | R1/4 [B1| 6 | 4 5,400
BJM1B8RNR-ROBRMT | TB117%| M16X15(8) | R3/8 |63 | 6 | 4 7,200
% | BJM1BLNR-ROBRMT | TB118*| M16x1.5(k) | R3/8 |53 | 6 | 4 7,200
BJW22RNR-RO4RMT | TB118 | W22-14(H) R1/4 |72 |10| 6 |12000(

BJW22RNR-ROBRMT | TB120 | w22-14(H) R3/8 | 72 | 10| 8 | 12,600
BJW22RNR-RO8RMT | TB121 waa-14(8) Ri1/2 |72 | 10| 10 | 12,600
BJW30RNR-RO8RMT | TB122 | W30-14(5) R1/2 |90 | 12| 10 | 15,000

INDEX(EH)

BJW30RNR-R12RMT | TB123 W30-14(H) R3/4 |90 | 12| 15 | 16,800 INDEX(528)
A AXA AHEF
INFRILT a1 U

Fw s
DA AXAZME (RF Y51 T) e at
i B AAXAZHHF
- f (BFvbI414F)
AZXHS—HF
(HFvbI147)
4 ZAXAZHF

o
PZib ‘J‘ — FAXAZMF
Mt (BFvb917)

gL =
TS$170 =
e EEVLh S —
A7 BEAU—T

Eﬁz‘.{rj‘
B (=500 A B | L[| I |d]| =M A
2| SUW22RNP-RO4RMT | TS124 | wee14@&) | R1/4 [72[ 10| 5 |24.000 TS5~
2 .
~| SJW22RNP-ROGRMT | TS125 | We214() | R3/8 [72|10] 5 [24000 L e [
2 | sUW22RNP-ROSRMT | TS126 | we214() |R1/2 [72[ 10| 5 |25200 Mi6F1—775 75—
W22F1—T75T5—
= | BJW22RNP-RO4RMT | TB124 | W2214¢8) | R1/4 [72[10| 5 | 12,000 RFvF
BJW22RNP-ROGRMT | TB125 | w22-14(6) | R3/8 |72 | 10| 5 [12,000
i BJW22RNP-ROBRMT | TB126 waz-14(%) R1/2 |72 | 10| 5 | 13,200

HT2U—X

RN E R ER~ R AR

weEAE 20MPasi T . 20MPa%iB A 2HENDEBEIFTHEM T, (BUXICIDEEHFOBONEGEDFET )

[ 1 :1MPa ¥|& BMPaLl FTTERT L,

[ 1 :30MPakx THERWEREIFTETD .

RIHERLIEP388%=CE ey, 370



—BI%HR
FhHHAESR (<5&:mm)

AT DF AXAREF ([T vbhF1D)

EAHAESR
HZMEE T i
& K B
P apbiadan Py
= JFAd
Lzoesm Lty
F{EH A FEHSS
Eilbay BBz A B L | d Eff
=Bz A SUW22RNPF-RO4ARMT TS127 W22—14(E) R1/4 | 72 | 10 6 22,800
% SJW22RNPF-ROBRMT | TS128 weaz-14(8) R3/8 | 72 | 10| 8 | 24,000
A | SUW22RNPF-RO8RBRMT | TS129 We2-14(H) R1/2 | 72 | 10| 10 | 25,200
n BJW22RNPF-RO4RMT | TB127 wWe2-14(H) R1/4 |72 | 10| 6 12,000
BJW22RNPF-ROG6RMT | TB128 wa22-14(H1) R3/8 | 72| 10| 8 | 12,000
i BJW22RNPF-RO8RMT | TB129 waz-14#H) R1/2 | 72 | 10| 10| 13,200

DA ZAXAAMF (RFvh51T)

L H(Hex)
B

w2 ]

3 82 .
FreaL—
# A1
#3MPalLITOEZATY.

e TS [EETES A B L1 [d[H] =@
|SUS SJUOSRNR-W22RMP | TS130# | 9/16-18UNF(B) |W22-14(FK) |64| 9 | 7 |23| 24,000
INDEX(EE)

INDEX(5228) |BS B JUO9RNR-W22RMP | TB130* | 9/16-18UNF(&) |W22-14(5) |59| 9 | 7 |24| 12,000
F2AXA AT
NEISEESIS
(@it M)
AAXAZMF
AKX AT
(EFubIAF)
AZAXNDS—lF
(BFvb917)
FAXAZHF
(BFvb91Y)
=
TILiR
BEAU—T
BEA—T
HARY)
M16-M128
ZM7I TSI~
M16-M128
Fa—TERHF
MI6Fa—T 79 T9—
W22Fa-TFIF5—
Krwh
BEYIvh
mu>a
/s
Fovl
Nyt
TSUIXATMTF
BREHEF
HTU—X

Efggﬁﬁﬁggﬁﬁ%ﬂ‘ﬁﬁ %g';ﬂeﬁagl\ﬂp ZBADENDESIFTHETEL 7 IMPELEEBMPEL] FRDR TR
?;Tﬂ[d:bﬁ&{iﬁ;ﬁgb‘@%ggjo}a o = ¢ [ : 30MPaxXCTERVERETET.

371 AABRIFP388ECE TS,



	ヤマト産業_08_00369P1
	ヤマト産業_08_00370P1

